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A. |PartA

Part B
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Primary 6 Science » Primary 6 Science (Term 2)

For each question, four options are given. One of them is the correct answer. (28 x 2 marks = 56

Tha flow charl below shows the sharactaniafies of four DrgaEnisms,
Living thing
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Does it have flowers? | Does it have gills?

B. |partA Part B

Does it produce fruits? | Does it live in water?

v C. |partA Part B

Does it reproduce by seeds? [ Does it have lungs?

D. |partA Part B

Does it reproduce by spores? | Does it have scales?

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sun 3rd Oct 2021

Last Modified: N/A

QID#: 29,212,170
Qu estion 2 Primary 6 Science » Primary 6 Science (Term 2)

The graph below shows the number of days for the various steges of th lifs cyce of

Irmasct A,

P i L e s

of days
T
&
5
4
a
2
3 stages of a

aetuilt life oycla

Al which stage will the young of this Insect be 6 days aftar the adult loys il egoe?

A. egg
larva
v C. pupa
D. adult
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,212,176
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Primary 6 Science » Primary 6 Science (Term 2)

The tabls below shows 3 oolls, A, B and C, and the call parts presen In sach oall

CellA | CellB . gallC
T 7 7
coll membrans | ¥ - . - T
chicroplael +
cytoplasm - - P
| nudleus v v i

Which of the fallowing raprasants fhis chsad) cell and the mot halr esll?

A. | Cheek cell | Root hair cell
A B
v B Cheek cell | Root hair cell
B C
C. |cheek cell | Root hair cell
B A
D. | cheek cell | Root hair cell
(o} A

QID#:

Question Type:
Randomize Answers:
Date Added:

Last Modified:

Question 4

Muiltiple Choice
No

Sun 3rd Oct 2021
N/A

29,212,184

Primary 6 Science » Primary 6 Science (Term 2)

Eudmhmin-d,ﬂﬁhdhhhnhgsﬂuuﬂhmlﬂyhhh&?

A. The bag acts as a cell wall which gives the bag a regular shape.

The bag acts as a cell wall, allowing some substances to pass through.

https://www.classmarker.com/a//tests/test/?test_id=1827006

C. The bag acts as a cell membrane, allowing all substances to pass through.

The bag acts as a cell membrane, allowing some substances to pass through.
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Question Type: Multiple Choice
Randomize Answers: No

Date Added: Sun 3rd Oct 2021
Last Modified: N/A

QID#: 29,212,194

Question 5

The disgram below shows a saction through 8 cul beaf of a plant.

layer £ of the leaf,

distribation of W in a leal?
A Loyer ' trps more light than layer 2.

B Layer ¥ makns kass food than layor 2.
G Layer ¥ Is dfarker green bn colour than layer Z.

A. Aonly
v B. AandConly

C. BandConly

D. A,BandC
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,212,197

Question 6

https://www.classmarker.com/a//tests/test/?test_id=1827006

Primary 6 Science » Primary 6 Science (Term 2)

Hhumﬂpﬂihﬂdhmﬂlﬂmlhuﬂﬁrﬂﬂntmmmhupﬂrm

Based an the diagram above. which of e following sislement(s) i/ars truo on the

Primary 6 Science » Primary 6 Science (Term 2)
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Farmers always remove unwanied wasds from tha vegetabies thal they grow.

This is bacauss the weeds will compele wish the vegotabies for

A wiabesl
a Bpacs
C surlghl
o mulrfanis
A. Aonly
B and C only

v' C. A, BandD only

D. A,B,CandD

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sun 3rd Oct 2021

Last Modified: N/A

QID#: 29,212,198
Question 7 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

Danlel wanted to find cul [ e difesnl lnglhs of the wing of tees fooita, X, Y and 2,
taken froam the same plant, will affect thelr dspersal by wind, He droppad the Bhiee fruts
from the same heighi and recorded the time each fruiit ook ko reach he ground.

The tablé below shows his results,
Fruits | Length of wing fom) |  Time taken (s}
N B a2z
¥ y 4 ap
L 2 .7

Hi conciuded that Froll X could be camied away further by fhe wind,

A. use three fruits of different masses
dropped the three fruits as different heights
C. use a fan and different wind speeds to blow the three fruits separately

v’ D. repeat the experiment two more times and calculate the average time taken for each fruit
to reach the ground.

Question Type: Muiltiple Choice
Randomize Answers: No

https://www.classmarker.com/a//tests/test/?test_id=1827006 5/51
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Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,212,203

Question 8

The bwo systems are cut al the parts shown below.

Which of the following statemant(s) isfare cormect alter the cul?
I both the human and plant reproductive systems,

Primary 6 Science » Primary 6 Science (Term 2)

The disagrams below show the human and plant reprodiciive systams.

A fhe owarles are not damaged
B fertBlsation can siil oocur
C the female parts are cut.

A. Aonly
B only
¥ C. AandConly

D. BandConly

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Sun 3rd Oct 2021
Last Modified: N/A

QID#: 29,212,207

Question 9

Which of the following correctly shows how food is transported in a plant?

A.

https://www.classmarker.com/a//tests/test/?test_id=1827006

Primary 6 Science » Primary 6 Science (Term 2)
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leaves |——>| fruit
B.
1 “stem /q root
IEH‘-"EE I-—)l fruit
C.
stem root
4 l
leaves
v' D
leaves I
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,212,211
Question 10 Primary 6 Science » Primary 6 Science (Term 2) 2 pts
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The diagram below shows the human digestive system,

Organ C absorbs waler and minerals.
Digestive juices are released sl B, C and D onjy.

A. AandDonly
B and C only
C. CandD only

v D. A, CandDonly

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Sun 3rd Oct 2021
Last Modified: N/A

QID#: 29,212,213

Question 11

tha surfaces of tha lnad.

— buibsie

=W Walar
— haaf

Which of tha folowing stalemenis aboul the bubbles is cormect?

v" A. The bubbles contained air.
B. The bubbles contained chlorophyll.
C. The bubbles contained dissolved mineral salts.

D. The bubbles are formed when surrounding air dissolved in water.

https://www.classmarker.com/a//tests/test/?test_id=1827006

&
B
C Food is broken down into simpler substances at A, B and D.
] Absorption of digested food info the bloodstream ocours at D,

Primary 6 Science » Primary 6 Science (Term 2)

When a freshiy plucked MHMIMnHMHﬁmﬁ,WMM
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sun 3rd Oct 2021

Last Modified: N/A

QID#: 29,212,217
Question 12 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

An experimant i carried out to find out mone sbout the plant trenspar sysfom. An outer

ring eround B stem of @ healtfy tis removed, Afler
b prarsvl oo b el i s 1t

Which of the fallowing statements is e aboud the outer dng that |s remeved?

A. All the food-carrying tubes are removed.
All the water-carrying tubes are removed.
v" C.  Only some of the food-carrying tubes are removed.

D. Only some of the food-carrying tubes and all of the water-carrying tubes are removed.

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sun 3rd Oct 2021

Last Modified: N/A

QID#: 29,212,222
Question 13 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

The diagrams below show the respiratory systems of the human and the fish.

oFgan 8

J

Which of tha following statements is corect about organs S and T7

A. S and T remove oxygen from the body.

B. S and T are made up of blood vessels only.

https://www.classmarker.com/a//tests/test/?test_id=1827006 9/51
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water.

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 14

food

frash alr

Multiple Choice
No

Sun 3rd Oct 2021

N/A
29,212,227

gas A |

v C. SandT allow gaseous exchange to take place.

ClassMarker - Manage Test

D. S takes in oxygen from the air and from the water, but T only takes in oxygen from the

Primary 6 Science » Primary 6 Science (Term 2)

The chart below shows how substance C and gas A ane transported i the human bady,

Ky

—=  path of flow
—-=  gash

== substanca G

air thal is

Errmat hiad

il

v A System X | System Y | Gas A | Substance C
digestive |circulatory | oxygen | digested food
B. System X | System Y |Gas A | Substance C
digestive |respiratory [ oxygen | digested food
C. System X [System Y |Gas A Substance C
respiratory | disgestive | carbon dioxde | food
D. System X | System Y | Gas A Substance C
circulatory | digestive | carbon dioxide |food

Question Type:

Multiple Choice

Randomize Answers: No
Sun 3rd Oct 2021

Date Added:
Last Modified:
QID#:

N/A
29,21

2,245

https://www.classmarker.com/a//tests/test/?test_id=1827006

Which of the following comecily maltches gas A, subsiance G and body systems X and Y7

2 pts
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Question 15 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

A pot of phant in & sealed clear gless box was lefl in the gardan for one day, The differant
amaunt af gases in the sealed glass box was recsrded and plotbed in the graphs below.

mmoaml af
gas X
* i
& a.m. 12 p.m G puim,
amounl of
gas T
= « lime
& BT 12 p.m & p.m.

Based on Ihe information above, which of thie following slslements ae cofreclt?

Bas ¥ s axygen
Gas X is carbon dioxide.

Eas Y s oeygen
Gas ' |5 carbon dioxice,

s B

A. AandConly
v B. AandD only
C. BandConly

D. BandD only

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sun 3rd Oct 2021

Last Modified: N/A

QID#: 29,212,249
Question 16 Primary 6 Science » Primary 6 Science (Term 2) 2 pts
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An experiment is set up fo find out If carbon dindde is nesded for photosynihesis.

Which twe parts of the plant should be taken fo test for starch bo reach 8 conclusion?

A. Eand G
v B. FandH
C. EandF
D. Hand G
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,212,255
Question 17 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

A ball was released fram poind A, B moved from polnt A and siopped ai point E.

Which af the following ststemernts about the snengy of the ball ars correct?

AL paint E, the ball haz na kinetic encrgy.

Al paint G, the ball has mere kingtic enargy than at point B,

AL point A, he ball hag mara kinetic ansrgy than at point D,

At point D, the ball has mor gravitational potential enedgy than at point C.

M E

A. Wand Zonly
Xand Y only
C. YandZonly

¥ ' D. W, XandZonly

https://www.classmarker.com/a//tests/test/?test_id=1827006 12/51
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Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Sun 3rd Oct 2021

Last Modified: N/A

QID#: 29,212,262

Question 18 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

Tha dingram befow shows a bow and an amow,

Which of the following corecily shaws the energy conversion whan the siring s pulled
and then redeased?

A. Chemical potential energy ---> Kinetic energy ---> Gravitational potential energy
Elastic potential energy ---> Chemical potential energy ---> Kinetic energy
C. Kinetic energy ---> Chemical potential energy ---> Kinetic energy

v’ D. Kinetic energy ---> Elastic potential energy ---> Kinetic energy

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Sun 3rd Oct 2021

Last Modified: N/A

QID#: 29,212,276

Question 19 Primary 6 Science » Primary 6 Science (Term 2) 2 pts
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A metal ball hangs on a string which is fied at point P. It is reteased from posiion X and
It swings io position Y, posiion 2 and then back. 1t ewings 1o amd fro several imes bafors
stapping al pasition ',

Which of the fofowing stalements are comace?

A Thee: il amergy of the ball decrasses from X oY,

B The: podential energy of the ball increases from ¥ in 2.

c Thes mristal ball has the most kinelic enengy when | was al pession ¥ for
he fliesd e,

o Boame of metal balls anergy has been comertod to haal and sourd
ansny during #s pagh.

A. AandConly
B. BandD only
C. A,BandConly

v' D. B, CandD only

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sun 3rd Oct 2021

Last Modified: N/A

QID#: 29,212,280
Question 20 Primary 6 Science » Primary 6 Science (Term 2) 2 pts
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A baw is beirg pushod by foen X 1o rove alang the Soor shovan in tha diagram bebos,
praibtioral foroa

pusshing fonoe X ——— r A el force

——  forced
B EieaAdeg In his direction ————

Which of tha fulicwiry alabsenants descrba lha possible sflects of e lrees.on the bo?

Cirmilalionsd fare can slop tFa moving be,
Pughing force & caused the stalionany b i meve,

Pushing fosee ¥ may changs the direcsion of the moving box.

Foroa Z oppoges the molion and increases the speed of the moving box,

CoER

A. AandDonly
v B. BandConly

C. B,CandDonly
D. A B,CandD

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sun 3rd Oct 2021

Last Modified: N/A

QID#: 29,212,288
Question 21 Primary 6 Science » Primary 6 Science (Term 2) 2 pts
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An expariment was camied oul with 3 objects, A, B and C, of dffareni masses
difierent combinations of the ab &  When

et gl jects were hung on the spring, the kenglh of the stretched

The ariginal length of the spring was 10 em.

The table: balow shows the langth of the spring after different objecks were hung on it,

Objects Length of spring {om)
A A
Aand B O
o, Band C 5
il

I lhe spring was nol oversirelched
e i theoughout the experiement, which of the foiowing

Object A has the smallest mass.

Object A has a greater mass than object C.

C. The extension of the spring when only object B is hung on it is 30 cm.
The length of the spring is 50 cm when only object C is hung on the spring.
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,212,301

Question 22

Primary 6 Science » Primary 6 Science (Term 2) 2 pts

Twa identical blocks, A snd B, are placed sl d#ferent postions an ramp. Blocks & and
B afe then pulled up a dstance of 10 om an tha rmp. . =

4y 5

Vetikch of the fidowing stalements are corred?

P Blogk A poeds mane foroo ko be pulled up than blogk B,
Q Ehﬁtﬁﬂﬂmmmmﬂﬂﬂmmﬂ'umhﬂ.
R

Blacks A and B have the sama amount of grenitational ferce acsing an theen,

https://www.classmarker.com/a//tests/test/?test_id=1827006 16/51
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A. PandQonly
P and R only
v C. QandR only

D. P,QandR

Question Type:

Date Added:
Last Modified:
QID#:

Multiple Choice

Randomize Answers: No

Sun 3rd Oct 2021

N/A

29,212,306

Question 23

Shudy the classfication table balow.

| Materiis |

ClassMarker - Manage Test

|

Primary 6 Science » Primary 6 Science (Term 2)

E
-

] .
lecirical Insulators |
\—_I___I

|| Erectrical Conductors |
R 2
Mar-ratal | Mkl
A a

Fledibin
=

I

Men-llesile hJ

A. liron | Plastic | Glass | Gold
A C B D

B. |iron|Plastic | Glass | Gold
A D C A

C. liron |Plastic | Glass | Gold
B A D A

v D Iron | Plastic | Glass | Gold
B C D B

Question Type:

Date Added:
Last Modified:
QID#:

Muiltiple Choice

Randomize Answers: No

Sun 3rd Oct 2021

N/A

29,212,319

Question 24

https://www.classmarker.com/a//tests/test/?test_id=1827006

In which group, A, 8, C or D, can ron, plaglis, glass and gold be placed ?

Primary 6 Science » Primary 6 Science (Term 2)

2 pts

2 pts
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Xiong warded o find out the sirength of the magnetic force of two magnets. He attached
& plens of paper on his refrgerator door with magnet X, He then placed ancther plece of
paper on the finst paper and attached both o the refrigerator door wsing the same magnet,
Xlong repeated the expardment with mors plates of paper unSl the papers could no longer
b mitmched io tha refrigecator door,

Iridge dor

l'.—

door __ (=3 magnet
ﬂ _:__H sheets of paper

Xlong rapaated the expariment with Magned Y,
Thl:'l.l!ﬂul:d:nl shows the resall of Kiong's axperimend.

Do the papers remaln attachad to
Humber of papers the refrigerator door?
usad Magniet X Magnet ¥
1 Yes Yas
2 Yes i Yias
3 e Yae
4 Mo Yas
5 Mo Yas
] Mo o
T Mo fiko

‘Which of She following can be concluded based on tha resufts of Xong's experimant?

A Magnedic forca can act at a distanca,

B Magnet ¥ is o stronger magnel than Magret X

[+ Gravitalional force acling an the § papers is stronper then e magnelic
forcn of ¥ when B papers ar used in the expermment,

A. Aonly
v B. AandBonly

C. BandConly

A,BandC
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,212,324
Question 25 Primary 6 Science » Primary 6 Science (Term 2) 2 pts
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On a dark right, Ahmad walked from A lo D under a lit strest lamp.
==
A B = 5]
Which of tha fallowing graphs B e’ changes
mnummnmﬁmmmmmwﬂ e e
A.
&
E
5
§
oy
E F
-
| | i
| | i Y
A B C D
Position
B.
&
&
5
L ]
=
oy
-1
=
§
|
J ! l E >
A B C D
Position
v C

https://www.classmarker.com/a//tests/test/?test_id=1827006

19/51


https://0cm.classmarker.com/10070943_QBHJCI9R.jpg

10/31/21, 1:24 PM

ClassMarker - Manage Test

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 26

Y
E
E %
13
k<]
B
=
3
| I |
| | I
A B C
Position
D.
&
E
g
:
3 ]
S
£
g
3
| | .
I | 1
A B c
Position

Multiple Choice
No

Sun 3rd Oct 2021
N/A

29,212,325
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Jotniny el up an efecirical creult as shown balow. Bulba B1, 8 and 83, and swilches
51, 32 and B3 are connacied In the circult. Allthe bukbs and beliedes ane working property.

B1

Bﬂ,l

A. Switches Do the bulbs light up?

S1 S2 S3 |B1|B2 |B3

closed | closed | open | yes | yes [ no

B. [s1 |s2 |[s3 |B1|B2|B3

open [open |closed |no |no [no

closed [open [ closed | no |yes |yes

open | closed | closed |no |no [ no

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sun 3rd Oct 2021

Last Modified: N/A

QID#: 29,212,340

Question 27 Primary 6 Science » Primary 6 Science (Term 2) 2 pts
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The fable below shows ihe slabes of four substances, P, O R and 5, ol cifferent

temperaliras,
Bl ) Statas of substances
Wwe | mrC B°C
P s liguiid o
Q liquid ligpisicd ligiaed
R Tt gas pas
£ solid silic fiquid

[=RCw N

A and B only
C and D only
A, B and D only
B, C and D only

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 28

Which of tha folowing stafements comecily describe subatances PO, R and 57

Tha bolling point of substance P 18 B2°0C.
The melling point of substance G s 1570,
Bubslanca R has the lowest bollng point.
Subslance 5 has the highasl meling paint,

Multiple Choice
No

Sun 3rd Oct 2021
N/A

29,212,344

Primary 6 Science » Primary 6 Science (Term 2)

Thoe diagram below shows a ketle of boling water on a hot stove.

D

BLAOLL

= hol stove

Which af the following statement(s) istara correct?

oome

Thera is less water vapour in the air as the water is boling,

The waler bolled and changed into steam and steam has kdnetic BAERTY
The rrist that is sean above the spout of the keitle s In iquid stale.

The emparatura of the bolling water increases when the water is bagind

langar.

B only
A and D only

B and C only

A, C and D only

https://www.classmarker.com/a//tests/test/?test_id=1827006
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 29

take place. (1 mark)

https://www.classmarker.com/a//tests/test/?test_id=1827006

Multiple Choice
No

Sun 3rd Oct 2021
N/A

29,212,346

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,212,897

Correctly answered feedback

Incorrectly answered feedback

ClassMarker - Manage Test

Primary 6 Science » Primary 6 Science (Term 2)

Flowers play an important role in the reproduction of Nlowering plants.

The diagrams below show two different types of full-bloomed Bowers with both
the males and fermale reproduciive parts stll intact,

On flower X, circle and label the part of the flower where the pollen grain should land for pollination to

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

0 pts
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Question 30

Flowers play an important role in the reproduction of fiowaring plants.

The: diagrams below show two different types of full-bloomed fowers with both
the male and Termale reproduciive parts sell inact,

Flowser

Name the method of pollination for Flower X.

Accepted answers:
¥’ Pollinated by wind
¥ by wind

v wind

Question Type: Free Text

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,212,904

Primary 6 Science » Primary 6 Science (Term 2) 1 pt

Question 31
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Flowera play an important role in the reproduction of flowering plants.

The diagrams below show two different types of full-bloomed Bowers with both
the males and Temale reproduciive parts sill intact,

Flawpsr

Name the method of pollination for Flower Y.

Accepted answers:
v Pollinated by animal
v By animal

v’ Animal

Question Type: Free Text

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,212,909
Question 32 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Flowera play an important role in the reproduction of Nlowering plants.

The diagrama below show two different types of full-bloomed Rowers with bath
the male and Temale reproduciive parts sall intact,

Flarwgar

Name one characteristic of flower X that suggests that it is pollinated by the method named in the
previous question. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.
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Question Type:
Date Added:
Last Modified:
QID#:

amaount
of ight 4
{unity T

ClassMarker - Manage Test

Essay

Sun 3rd Oct 2021
N/A

29,212,935

Correctly answered feedback

Flower X has the anthers and stigma of the flower hanging out of the flower.

Incorrectly answered feedback

Flower X has the anthers and stigma of the flower hanging out of the flower.

Qu estion 33 Primary 6 Science » Primary 6 Science (Term 2)

ﬂ&?mm beakers of waler from four different ponds, E, F, G and H. Ha
up bedow to detarmine the amount of light passing through
beakey of pond waler, oh s e

—E

R s e ]

torch bkt of poid ik

The graph balow shows the amount of light recordad.

Date Added:
Last Modified:
QID#:

£ F..-E ™ * Pond

What apparatus should be used to measure the readings? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Sun 3rd Oct 2021
N/A
29,212,947

Correctly answered feedback

A light sensor should be used.

https://www.classmarker.com/a//tests/test/?test_id=1827006

0 pts
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Incorrectly answered feedback

A light sensor should be used.

Primary 6 Science » Primary 6 Science (Term 2)

Question 34

ﬂjmm beakers of waler from four different ponds, E, F, G and H. He
up bedow to detarmine the armount of light passing through
beaksr of pond waler, e ol

o PSSR
= =

e s e ]

torch beaker of pond water

The graph balow shows the amount of light recordad.
amount

of fight 4
funity

e F..-E T * Pond

In the blanks below, arrange the different pond water, E, F, G and H, in decreasing order, based on the
amount of light passing through the pond water.

most light --===-=-=smeemmeeeeee- > least light

Accepted answers:
v HE G,F
v hegf
Y hegf

Y H,E,G,F

Question Type: Free Text

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,212,972

https://www.classmarker.com/a//tests/test/?test_id=1827006

1 pt
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10/31/21, 1:24 PM
Primary 6 Science » Primary 6 Science (Term 2) 2 pts

Question 35

All collected four beakers of waler from four different ponds, E. F, G and H. He
usad the sol-up below to delarmine the amount of light passing thrugh
beaksr of pond waler. VB s -

T SSERI
e e ]

s s e ]

forch baraker of pond weier

The graph balow shows the smaount of light recordad,

amaunt
of ight 4
{unity -

£ F..-E - * Pond

Which pond would be the most suitable for totally submerged plants to thrive in? Explain your answer.

Accepted answers:
v’ Pond H

v H

Question Type: Free Text

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,212,998

Correctly answered feedback

Pond H. Water in Pond H allows most light to pass through. The totally submerged plants can trap
most light with chlorophyll in chloroplast to carry out most photosynthesis to make most food. Thus,
Pond H would be most suitable for totally submerged plants to thrive in.

Incorrectly answered feedback

Pond H. Water in Pond H allows most light to pass through. The totally submerged plants can trap
most light with chlorophyll in chloroplast to carry out most photosynthesis to make most food. Thus,
Pond H would be most suitable for totally submerged plants to thrive in.

Primary 6 Science » Primary 6 Science (Term 2) 1 pt

Question 36
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The table shows how Indicalor solution X changes colour whan [he
concentration of carben dioxide in it changes.
Concentration of carbon dicuids Colour change
Insreases Redto yallow
Lacraasas Red 1o pupla

On & sunny day, Samantha sel up the experiment shown below and put the thres

test-ubes on a window-sil. After 2 hours, sha observed the colour of the indicator

gcdulion X and recordes the mesults in a table.

|
Test-uba 03 Testtebs B Tst-iuba 5
A
o pond wead
pond weed —_ L
indicator sofudion X - ¢

Test tube | Colour of the indicator solution X
Q
R
S Red
Clue Match
Q: purple
Points: +0.5 =0
R: yellow
Points: +0.5 =0
Question Type: Matching
Shuffle Mode: Shuffle Matches Only
Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,012
Question 37 Primary 6 Science » Primary 6 Science (Term 2) 0 pts
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The table shows how indicalor solution X changes colour whan tha
concentration of carbon dicdde in it changes.

Concentration of carbon dicuids Colour change
Increases Redeta vallow
Lacraasas Red 1o pupla

On & sunny day, Samantha sel up the experiment shown below and put the thres
test-tubes an a window-sdl After 2 hours, sha obesrved e colour of the indicator
gcdulion X and recordes the mesults in a table.

-
Test-fube O Test-tutha R Test-{uba S
] 2
=t . ; pord wead
snall e and snails
pond weed ey |

indicator sofuion X -

Explain your answer in the previous question for Test-tube Q. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,022

Correctly answered feedback

Test tube Q has only the Pond need. The Pond need would photosynthesis as there is sunlight, and
Pond need would take in carbon dioxide. The concentration of carbon dioxide in test tube Q would
decrease, and thus, the indicator of solution X would turn purple.

Incorrectly answered feedback

Test tube Q has only the Pond need. The Pond need would photosynthesis as there is sunlight, and
Pond need would take in carbon dioxide. The concentration of carbon dioxide in test tube Q would
decrease, and thus, the indicator of solution X would turn purple.

Question 38 Primary 6 Science » Primary 6 Science (Term 2)
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concentration of carbon dicdde in it changes.

ClassMarker - Manage Test

The table shows how indicalor solution X changes colour whan tha

Concentration of carbon dicuids Colour change
Increases Redeta vallow
Lacraasas Red 1o pupla

gcdulion X and recordes the mesults in a table.

On & sunny day, Samantha sel up the experiment shown below and put the thres
test-tubes an a window-sdl, After 2 hours, she obsarved (he colour of the: indicator

Test-ube O  Testhba R Testiuba S

577 . A

gt — |

p-mdmadq._____ﬁ

indicator sofuion X -

to attempt after the test has been completed.

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,039

Correctly answered feedback

red in test-tubes.

Incorrectly answered feedback

red in test-tubes.

Question 39

https://www.classmarker.com/a//tests/test/?test_id=1827006

pond wead
and sl

Explain why the indicator solution X remained red in Test-tube S. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Test tube S had both the Pond need and the snails. The Pond need would take in carbon dioxide
while photosynthesizing and the Pond snails would release carbon dioxide while respiring. Thus,
the concentration of carbon dioxide remained almost the same and indicator solution X remained

Test tube S had both the Pond need and the snails. The Pond need would take in carbon dioxide
while photosynthesizing and the Pond snails would release carbon dioxide while respiring. Thus,
the concentration of carbon dioxide remained almost the same and indicator solution X remained

Primary 6 Science » Primary 6 Science (Term 2)

1 pt
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Diagram 1 below shows the movement of substance X and water in the plant
tramieport system,

water watar

Fioolts |—"' Stem e Laaves
r R R
X X

Diagram 2 balow shows the movemant of blood in the human clrculatony

ayste,
A,
Lungs ¥ Heart * | Other parts of the body
B

Identify substance X carried in the plant transport system. (1 mark)

Accepted answers:

v’ Sugar

Question Type: Free Text

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,044

Question 40

Diagram 1 below shows the movement of substance X and water in the plant
tramieport system,

water watar

Fioots |—"' Stem e Lagves
r B R
X X

Diagram 2 below shows the movemant of blood in the human clrculatony

ayste,
A,
Lungs ¥ Heart * | Other parts of the body
y . B g

What happens to the water after it reaches the leaves? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

https://www.classmarker.com/a//tests/test/?test_id=1827006

Primary 6 Science » Primary 6 Science (Term 2)

0 pts
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Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,062

Correctly answered feedback

The water is used when photosynthesis occurs. The plant traps sunlight using the chlorophyll in
chloroplast and uses water and carbon dioxide to make more sugar.

Incorrectly answered feedback

The water is used when photosynthesis occurs. The plant traps sunlight using the chlorophyll in
chloroplast and uses water and carbon dioxide to make more sugar.

Qu estion 41 Primary 6 Science » Primary 6 Science (Term 2)

Diagram 1 below shows the movement of substance X and water in the plan

traneport system,
water watar
Roots | Stem - ¥ Leaves
PR Rt
4 X

Diagram 2 below shows the movemant of blood in the human crculatory

aystem,
A,

lungs |—  *| Heart *| Other parts of the body
B

State a difference, in terms of the amount of substances present, between the blood in A and the blood
in B. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,100

Correctly answered feedback

The blood in A has more oxygen than the blood in B, and the blood in B has more carbon dioxide
than the blood in A.

Incorrectly answered feedback

The blood in A has more oxygen than the blood in B, and the blood in B has more carbon dioxide
than the blood in A.

https://www.classmarker.com/a//tests/test/?test_id=1827006
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Qu estion 42 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Jamas has four fypes of metal rings, W, X, ¥ and Z_ He passad the diffarant rngs
through three amaath plastic rods as shown In the disgram below,

Only one type of metal ring s not @ magnet.

3 N N

Based on his observations as shown above, which of the metal rings are definitely magnets? Give a
reason for your answer. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,108

Correctly answered feedback

Metal rings W, X and Z. Metal rings W and X repelled each other, and Metal rings W and Z repelled
each other. Only magnets can repel each other and thus, W, X and Z are magnets.

Incorrectly answered feedback

Metal rings W, X and Z. Metal rings W and X repelled each other, and Metal rings W and Z repelled
each other. Only magnets can repel each other and thus, W, X and Z are magnets.

Question 43 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Jamas has four fypes of metal rings, W, X, ¥ and Z_ He passad the diffarant rngs
through three amaath plastic rods as shown In the disgram below,

Only oni typa of matal ring s not @ magnet.

3 N Nk

Using any of the two types of metal rings listed above, draw a set-up that James would not observe in
the box below. Label the two metal rings clearly. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.
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Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,113

Correctly answered feedback

(= ] X

1 —1wW/z

Incorrectly answered feedback

(= ] X

1 1wz

Question 44 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

The diagram below shows two students standing on a platicrm ready to dive info

the: pool. Student ¥
g

Student Y I

40 kn s

am

i

Which student, X or Y, has more gravitational potential energy? Give two reasons for your answer.

Accepted answers:
v’ Student X

X
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Question Type: Free Text

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,122

Correctly answered feedback

Student X. Student X has more mass than student Y and student X is at a higher height than
student X. Thus, student X would have more gravitational potential energy than student Y.

Incorrectly answered feedback

Student X. Student X has more mass than student Y and student X is at a higher height than
student X. Thus, student X would have more gravitational potential energy than student Y.

Question 45 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

The diagram below shows two students standing on a platform ready lo dive into
the paol. Student X

Student X dives from the platform into the water. Explain, in terms of energy, why Student X's kinetic
energy decreases as he enters the water. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,134

Correctly answered feedback

As Student X enters the water, kinetic energy is converted to sound and heat energy. Hence, his
kinetic energy decreases.

Incorrectly answered feedback
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As Student X enters the water, kinetic energy is converted to sound and heat energy. Hence, his
kinetic energy decreases.

Question 46 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

The diagram below shows two students standing on a platform ready Io dive Info
the: pool. Student X

What [z the source of energy for the swimmer? [1]

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,142

Correctly answered feedback

The digested food in his body.

Incorrectly answered feedback

The digested food in his body.

Qu estion 47 Primary 6 Science » Primary 6 Science (Term 2) 0 pts
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The piclure shows a temporary road traffic information board,

Tha batteries power the LED light used in the information board,
The selar calls keep tha balteries charged.

State the energy change to show how the information board makes use of solar energy to provide
useful information to road users? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,147

Correctly answered feedback

Light energy - Chemical Potential Energy - Electrical energy - Light energy

Incorrectly answered feedback

Light energy - Chemical Potential Energy - Electrical energy - Light energy

Question 48 Primary 6 Science » Primary 6 Science (Term 2) 1 pt
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Tha pleture shows a temporary road traffic information board,

Tha batteries power the LED light used in the information board,
The solar calls keep the balleries charged.

Name a form of energy that is not useful in the above information board.

Accepted answers:

¥ Heat energy

Question Type: Free Text

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,154

Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Question 49
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Tha plcture shows a temporary road traffic information board,

Tha batteries power the LED light used in the information board,
The solar calls keep the balleries charged.

What happens to the energy mentioned in the previous question? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,158

Correctly answered feedback

The heat energy is transferred.

Incorrectly answered feedback

The heat energy is transferred.

Question 50 Primary 6 Science » Primary 6 Science (Term 2) 0 pts
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Gumit had three blocks which were made of different matarale. The blocks wors
of the same mass. Ho pulled them one al a time across a susface from paint X io

¥ &8 shown in the diagram balow,
bieck made of
msaterial P
=spring balance
‘ divection of foros
I——1 i
— ]
point X surface paint ¥

The foree neaded to pull each block across the surface was measired and

recorded in the tabie balow,
Material of biock Force needed to pull aach
block (units)
B el
Q = 18
- -

Why is a force needed to pull all the three blocks across the surface? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,165

Correctly answered feedback

There is friction between the block and the surface.

Incorrectly answered feedback

There is friction between the block and the surface.

Question 51 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

https://www.classmarker.com/a//tests/test/?test_id=1827006 41/51


https://0cm.classmarker.com/10070943_ZU3FHOS5.jpg
https://www.classmarker.com/a/tests/qb/manage/?test_id=1827006&question_id=29213165
https://www.classmarker.com/a/tests/qb/manage/?test_id=1827006&question_id=29213165&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1827006
https://0cm.classmarker.com/10070943_ZU3FHOS5.jpg

10/31/21, 1:24 PM ClassMarker - Manage Test

Gurmit had three blocks which were made of different matarials. The blocks wore
of the same mass. Ho pulled them one al a time across a susface from paint X io

¥ &8 shown in the diagram balow,
biack made of
raberial P
speing balance
I divection of foree
I——1 2
— o
point X surface paint ¥

The foree neaded to pull each block across the surface was measired and

recorded in the tabie balow,
Material of biock Ferce needed to pull aach
Ui block (units)
P 5 i
a 18
R 30

Gurmit wants to use one of the materials, P, Q or R, to make the soles of shoes worn by kitchen staff
who needs to walk on the oily and wet kitchen floor daily. Which material should he choose? Explain
your answer clearly. (3 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,180

Correctly answered feedback

R. Material R has the most friction between the block and the surface. Soles made of this material
will prevent the person from slipping and falling on the oily and wet floor.

Incorrectly answered feedback

R. Material R has the most friction between the block and the surface. Soles made of this material
will prevent the person from slipping and falling on the oily and wet floor.

Question 52 Primary 6 Science » Primary 6 Science (Term 2) 0 pts
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Gurmit had three blocks which were made of different matarials. The blocks wore

of the same mass. Ho pulled them one al a time across a susface from paint X io
¥ &8 shown in the diagram balow,

biack made of
rnaterial P
speing balance
| direction of force
i——1) 'I
point X surface pu‘f-nl'l"

The foree neaded to pull each block across the surface was measired and
recorded in ihe tabia bakewr,

Material of biock Ferce needed to pull aach
Ui block (units)
P 5 i
a 18
R 30

sach
John tokd Gurmit that he could reduce the amount of force reeded by prul
biock goross the surace by puiting a fenw siraws undamasih fue biocks, as shokm

|“mmhakﬂ'.

orpsrisash

Do you agrea with John? ExXplEn your srswer. [

This question is designed for extended answers that parent/ teacher will have to assign and guide child

to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was

designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,185

Correctly answered feedback

The straws act as rollers to reduce friction between the block and the surface.

Incorrectly answered feedback

The straws act as rollers to reduce friction between the block and the surface.

https://www.classmarker.com/a//tests/test/?test_id=1827006
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Qu estion 53 Primary 6 Science » Primary 6 Science (Term 2)

The disgram shows a toy gun that works using a spring. The original length of
the sgeing ks 100 mm. The gun is then locked in the posilion shown befow. When
the trigger is pullad, the ball will shoot out o hit & tamget.

50 mm tarpet

State a force that are acting on the ball when the toy gun is locked in the position shown above.

Accepted answers:

v’ Gravity

Question Type: Free Text

Date Added: Sun 3rd Oct 2021

Last Modified: N/A

QID#: 29,213,186
Qu estion 54 Primary 6 Science » Primary 6 Science (Term 2)

The disgram shows a toy gun thal works using a spring. The original jemgthy of
the speing is 100 mm, The gun ks then locked in the posilion shown befow. WWhen
the irigger is pulled, the ball will shoot out 1o hit a tamget.

tanped

Explain, in terms of forces, why the ball will shoot out when the trigger is pulled. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

https://www.classmarker.com/a//tests/test/?test_id=1827006
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Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,192

Correctly answered feedback

When the trigger is pulled, the compressed spring will return to original length, thereby exerting a
pushing force on the ball, causing the ball to shoot out.

Incorrectly answered feedback

When the trigger is pulled, the compressed spring will return to original length, thereby exerting a
pushing force on the ball, causing the ball to shoot out.

Question 55 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Mrs Tan placed a 200 g big flehball imlo & ped, X, and & srall fishballs with a toisl
mase af 200 g nls apother similss pob. Y, The amount of balling wadar In both
peabs vans lhe same.

The pats wera then plased on a hot plate to cook the fishballs & the same lime,
tra Tan found thal the fishballs i pot 'Y took a shorter time 1o be cooked,
Why did the fishballs in pot Y cook faster? (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,196

Correctly answered feedback

The fishballs have more surface area in contact with the boiling water and gained more heat from
the boiling water / more heat was transferred from the boiling water to the fishballs.

Incorrectly answered feedback

The fishballs have more surface area in contact with the boiling water and gained more heat from
the boiling water / more heat was transferred from the boiling water to the fishballs.
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Question 56 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Mrs Tan placed a 200 g g fishball inks a pod, X, and & srall fishbalks with & toisl
mas=s of 200 g inte anather similar pot, ¥, The amount of bolfng waser In both
pats vans ihe same.

Tha pats wera then placed on a hot plate to cook the fishballs sl the same lime,
hirs Tan found thad the fishballs i pot Y ook & shorter time 1o be cooked,

Mrs Tan went to the mall o buy a new saucepan. A sales assistant tokd her that
saucepan P would cook food faster than saucapan Q on amammm
sEUGEpans ware made of the same material,

Saucepan Q
"bkscck metal surface ehiiny metal surface '

Degeribe how the features of saucepan P cause the food o be cooked faster., [2]

Fins.:

Black metal suisce :

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,202

Correctly answered feedback
Fins: There will be more surface area in contact with the heat source and the food will gain more
heat from the heat source.

Black shiny surface: Black surface absorbs more heat and the food will gain more heat and the
food will gain more heat from the heat source.

Incorrectly answered feedback

Fins: There will be more surface area in contact with the heat source and the food will gain more
heat from the heat source.
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Black shiny surface: Black surface absorbs more heat and the food will gain more heat and the
food will gain more heat from the heat source.

Question 57 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Dend conducts an experiment 1o measwe the force exerted on the iron disc when
the switch Is closed. The reading on the spring balance with the ion dise hung
o it whan the switch s openad is 1 unil.

100 coils: anound thes
iron md

Explain why the reading on the spring balance increases when the switch is closed. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,207

Correctly answered feedback

There is a closed circuit and electric current flows through the circuit, turning the iron rod into an
electromagnet. The electromagnet attracted the iron disc and pulled the iron disc downwards,
stretching the spring in the spring balance.

Incorrectly answered feedback

There is a closed circuit and electric current flows through the circuit, turning the iron rod into an
electromagnet. The electromagnet attracted the iron disc and pulled the iron disc downwards,
stretching the spring in the spring balance.
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Devi conducts an expefiment to measwa the force exerted on the ion disc when
the switch Is closed. The reading on the spring balance with the ion disc hung
on it when the swilch is openad s 1 unil.

1060 coils: anound thes
iran mod

Describe two ways that Devi can do to increase the readings on the spring balance. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,209

Correctly answered feedback

Add more batteries in the circuit.
Add more coils around the iron rod.

Incorrectly answered feedback

Add more batteries in the circuit.
Add more coils around the iron rod.

Question 59 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

https://www.classmarker.com/a//tests/test/?test_id=1827006 48/51


https://0cm.classmarker.com/10070943_5JJJ9Y1S.jpg
https://www.classmarker.com/a/tests/qb/manage/?test_id=1827006&question_id=29213209
https://www.classmarker.com/a/tests/qb/manage/?test_id=1827006&question_id=29213209&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1827006

10/31/21, 1:24 PM ClassMarker - Manage Test

Devi conducts an expefiment to measwa the force exerted on the ion disc when

the switch Is closed. The reading on the spring balance with the ion disc hung
on it when the swilch is openad s 1 unil.

1060 coils: anound thes
iran mod

What would the reading on the spring balance be if the iron rod is replaced by a glass rod of the same
mass when the switch is closed? Explain your answer. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,214

Correctly answered feedback

1 unit. The glass is not a magnetic and cannot be magnetized.

Incorrectly answered feedback

1 unit. The glass is not a magnetic and cannot be magnetized.
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Johngon set up a ciroult shown below. He wanted o pul in a swilch which could
allow him to switch on or off o particular bulb whils keeping the other bulbs lit,

—

&

5

®
e

Mark with a cross, "X", on the circuit diagram above to show where he should place the switch. (1
mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,220

Correctly answered feedback

2

——1]1t|——

Incorrectly answered feedback

| :
i T q X
3
Question 61 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

https://www.classmarker.com/a//tests/test/?test_id=1827006 50/51


https://0cm.classmarker.com/10070943_IRMQH8R8.jpg
https://www.classmarker.com/a/tests/qb/manage/?test_id=1827006&question_id=29213220
https://www.classmarker.com/a/tests/qb/manage/?test_id=1827006&question_id=29213220&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1827006
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Johnzon set up a ciroult shown below. He wanted o pul ina swifch which could
allow him to switch on or off o particular bulb whils keeping the other bulbs lit,

= ot e® w
&

5

If bulb P is replaced with a closed switch in the above set-up, what will happen to the brightness of bulb
R? Explain your answer. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sun 3rd Oct 2021
Last Modified: N/A
QID#: 29,213,226

Correctly answered feedback

Bulb R will become brighter. This is because the remaining bulbs are connected in series, so more
electric current will flow through bulb R in the closed circuit.

Incorrectly answered feedback

Bulb R will become brighter. This is because the remaining bulbs are connected in series, so more
electric current will flow through bulb R in the closed circuit.
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